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What is the square root of 64% ?

(@) 0-08% 64 = (4
(b) 0-8% [00

8% '
> W/ 6y - §xn - % -
(d) 80% 100 15 X/ [00
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What is the square root of 64% ?
(a) 0-08%

(b) 0;8%

(c) 8%

(d) 80%

Ans: D
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QUESTION

The sum of two numbers 1s g of the first number. The

second number 1s what percent of the first?
@ 12% b) 14% ‘e
(c) 16% (d) 18%
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QUESTION

The sum of two numbers 1s g of the first number. The

second number 1s what percent of the first?
(a) 12% (b) 14%
(c) 16% (d) 18%

Ans: (a)
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Q) ABCD is a square. If the sides AB and CD are increased by
30%, sides BC and AD are increased by 20%, then the area
of the resulting rectangle exceeds the area of the square by

) 50% (b) 52%
() 4% (d) 56%
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Q) ABCD is a square. If the sides AB and CD are increased by
30%, sides BC and AD are increased by 20%, then the area
of the resulting rectangle exceeds the area of the square by

) 50% (b) 52%
() 4% (d) 56%

Ans: (d)
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Q) When the cost of petroleum increases by 40%, a man reduces
his annual consumption by 20%. Find the percentage change

in his annual expenditure on petroleum. . 0
@ 20% (b) 16% C’Xfwdffu"t = osf f mm“”‘fﬁm/
(c) 12% (d) 40%
. f’- L c ! Yﬂ;ﬁﬁ/
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Q) When the cost of petroleum increases by 40%, a man reduces
his annual consumption by 20%. Find the percentage change
in his annual expenditure on petroleum.

@) 20% b) 16%
(c) 12% (d) 40%

Ans: (c)

EXAMS
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Q) When the price of sugar was increased by 32%, a family
reduced i1ts consumption in such a way that the expenditure
on sugar was only 10% more than before. It 30 kg were
consumed per month before, find the new monthly

consumption. L__Y
(@) 20ke b) 25ke H) o

(c) 30kg (d) None of these /0/ 5
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(=)

EXAMS

Q) When the price of sugar was increased by 32%, a family
reduced i1ts consumption in such a way that the expenditure
on sugar was only 10% more than before. It 30 kg were
consumed per month before, find the new monthly

consumption.
(a) 20kg (b)y 25kg
(¢) 30kg (d) None of these

Ans: (b)
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A reduction of 20% 1n the price of an apple enable a man to

buy 10 apple more for X 54. The reduced price of apple per
. N A
dozen 1s

(@) T4.32 (b) T12.96
©) Z10.80 (d) T14.40

def /érfa 07(’ a/vf/c be § %,

-ﬁcducffm h) /brfu 7—7 Nad }érfu = 1(/“1?__-)
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A reduction of 20% 1n the price of an apple enable a man to

buy 10 apple more for X 54. The reduced price of apple per
dozen 1s

(@) T4.32 (b) T12.96
©) Z10.80 (d) T14.40

Ans: (b)
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Q) By reduction of 20% 1n the price of oranges, one can
purchase 5 oranges more for < 2.50. Find the reduced price
of the oranges per dozen and also the original price.

(@) 120paise, 140paise  (b) 0.8,X1.5 L—-\ 3y /)" oran
(¢ T1.0,X1.5 (d 12,315 dL

feduced /bw'u 2 o?%(/-_{_r_)_ - az‘_‘;___z s por doken = /4)‘.55’:1 :_{f_;,z,
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Q) By reduction of 20% 1n the price of oranges, one can
purchase 5 oranges more for < 2.50. Find the reduced price
of the oranges per dozen and also the original price.

(@) 120paise, 140paise  (b) 0.8,X1.5
(¢ T1.0,X1.5 (d 12,315

Ans: (d)
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Q) The digit at unit place of a two-digit number is increased by
100% and the digit at ten places of the same number 1s
increased by 50%. The new number thus formed 1s 19 more
than the original number. What 1s the original number?

(a) 22 (b) 63

(¢c) 24 (d) None of these

Ten's place U'm'f/me s dyf Number
< y { R

X
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x 0 —  fox + 0* @

-::?-l JJ — “’(—f—x) +-?J = 5 +

(/su-?d) —(1ox +d) = 19

hx +4 =11

d AL +4 = 1Y A
(@) 2 53242 =12 K (¢) 4

(6) 63 %6 +3 = 33 X ) Vv
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EXAMS

Q) The digit at unit place of a two-digit number is increased by
100% and the digit at ten places of the same number 1s
increased by 50%. The new number thus formed 1s 19 more
than the original number. What 1s the original number?

(@) 2 (b) 63
(c) 24 (d) None of these

Ans: (d)
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Q) In an examination in which full mark were 500, A got 10%
less than B. B got 25% more than C. C got 20% less than D.
IfA got 360 marks what % of full mark was obtained by D.
(@) 90% (b) 80%
(c) 50% (d) 60% I = %0

et mavks  obfwined 6({ p be ZX.

¢ — 80% ofx S )

5 s Yo
y = X B
B — 35:1 I'I'_Zi%.) = ._).:X%X - Yoo _xmo = 30%
50
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Q) In an examination in which full mark were 500, A got 10%
less than B. B got 25% more than C. C got 20% less than D.
If a got 360 marks what % of full mark was obtained by D.
(@ 90% (b) 80%
(c) 50% (d) 60%

Ans: (b)

EXAMS
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Q) The salary of a person is increased by 10% of his original
salary. But he received the same amount even after
increment. What 1s the percentage of his salary he did not
receive?

@ 11% (b) 10%
(¢) 100/11% (d) 90/11%

b his Orﬁina/ Ja/ma be %

[+ 10 ( L) = (0
( ) /0 (lo )



CDS & AFCAT 1 2025 -REVISION - PERCENTAGE

Q) The salary of a person is increased by 10% of his original
salary. But he received the same amount even after
increment. What is the percentage of his salary he did not
receive?

@ 11% (b) 10%
(¢) 100/11% (d) 90/11%

Ans: (c)

EXAMS
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Q) If 50% of (x — y) = 40% of (x + y), then what per cent of

xi1sy? \__/\’

1 1
10—% 11—-%
@ 103 ®) 15

1 1
13—% 21-%
© 135 @ 215

:{-(x—d) = '%'(HJ) —,7 ,,,f o
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Q) If 50% of (x — y) = 40% of (x + y), then what per cent of
X 18 y?

1 1
1010, 1110,

@ 105 ) 1
1310, o 211y

© 13 @ 213

Ans: (b)

EXAMS
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Q)If the height of a cone is increased by 50%, then what is
the percentage increase in the volume of the cone?

100

(@) — % (b) 40 %
200
©) 50% @ %

Lef ﬁeﬁhf be §.
Oridim/ Volume = 1 Tth :@

3
Newo Volume - iWT"A(H‘,L) - L?Fv"l) X
3 3 3
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Q)If the height of a cone is increased by 50%, then what is
the percentage increase in the volume of the cone?

100
@) — % b) 40 %

200
© 50% @ 5%

Ans: (c)

EXAMS
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2
Q) Water contains 14;% of hydrogen and the rest is

oxygen. In 350 g of water, oxygen will be
(a) 300g (b) 250g
(c) 200g (d) None of these

/s o/ 076'(7% = /oo% -~ 10_;17. = %L%

03“/

100 /e - I/r.%-%, = (‘HX - /‘f%) a (I% -3..77

In 350 = 95/ T 6’/° = f
"= LY of 350 :,Gio/ A7 5?/
7 f ;{/;o/”
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EXAMS

2
Q) Water contains 14;% of hydrogen and the rest is

oxygen. In 350 g of water, oxygen will be
(@) 300g (b) 250g
(c) 200g (d) None of these

Ans: (a)
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Q) To an examination, a candidate needs 40% marks. All
questions carry equal marks. A candidate just passed by
getting 10 answers correct by attempting 15 of the total
questions. How many questions are there 1n the

examination?
@ 25 (b) 30
(c) 40 (d) 45

Ke?  dhe  marks pur i“Mﬁﬂ) be . , and Torf 7whm3 I tiom e 6.

_/9’();(/90:#0

Q/ §- }x;ﬁ,{ - 3% 1uu/'l'm§
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EXAMS

Q) To an examination, a candidate needs 40% marks. All
questions carry equal marks. A candidate just passed by
getting 10 answers correct by attempting 15 of the total
questions. How many questions are there 1n the

examination?
@ 25 (b) 30
(¢c) 40 d) 45

Ans: (a)
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Q) An employee 1s required to contribute 10% of his
payment to General Provident Fund. If he gets ¥13500 as
net pay in a month, then what 1s the monthly General
Provident Fund contribution (assuming no other

deductions)?
(@) <1215 (b) 1350
(c) <1500 (d) 1650

At The /"Ummf be € L.
— (17 - 13500
© (0 9{ 7’) /PP = }oo/; of /S000

qb/ % 4 ’3500
ﬂoxll = {ISool
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EEEEE

Q) An employee 1s required to contribute 10% of his
payment to General Provident Fund. If he gets ¥13500 as
net pay in a month, then what 1s the monthly General
Provident Fund contribution (assuming no other

deductions)?
(@) 1215 (b) 1350
(c) 1500 (d) 1650

Ans: (c)
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Q) A man losses 20% of his money. After spending 25% of
the remaining, he has 3480 left. What 1s the amount of

money he originally had?

(@) <600 (b) T 720
(c) T800 - (d) T840

4

' - (457- of &/e °7[1) = 480
« - Lxyxr =4éo
y s
(20

,‘f;x =Yoo = lgw =

N
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Q) A man losses 20% of his money. After spending 25% of
the remaining, he has I480 left. What is the amount of
money he originally had?

(@) T 600 (b) 720
(c) T 800 (d) <840

Ans: (a)

EXAMS
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Q) 4=10% ofx, B=10% ofy, C=10% ofx+ 10% of y. On the
basis of the above equalities, what 1s true in the following?
(@) AisequaltoB
(b) A 1sgreater than B
(¢) B 1isgreater than 4
(d) Relation cannot be established between 4 and B l/

becawse gz and ot are

nof Komow 07 ne-

CDm/)av‘ul,
i oy,
e don ’t knn/o] 6 d
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EXAMS

Q) 4=10% ofx, B=10% ofy, C=10% ofx+ 10% of y. On the
basis of the above equalities, what 1s true in the following?
(a) AisequaltoB
(b) A 1sgreater than B
(¢) B 1isgreater than 4
(d) Relation cannot be established between 4 and B

Ans: (d)
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Q) The ratio of salary of a worker 1n July to that in June was

1 1 L L
2 P 2 1 by what % the salary of July more than salary of d K o

June. Also find by what %, salary of June was less than that

of July. .g.. ’, il{_ =z %—/
9
h

| |
(a) 115% and 10% (b) 10% and “6%

1
(c) Both 10% (d) Both llg% m




CDS & AFCAT 1 2025 -REVISION - PERCENTAGE

EXAMS

Q) The ratio of salary of a worker 1n July to that in June was

1
2
June. Also find by what %, salary of June was less than that
of July.

1
2—:2 1 by what % the salary of July more than salary of

| |
() 115% and 10% (b) lO%andllg%

1
(¢) Both 10% (d) Both 115%

Ans: (a)
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Q) In measuring the side of a square, an error of 5% in excess

1s made. The error % in the calculated area 1s ~
1010, 1020
@) 4 0 (b) 1 0
3
(©) 12% @ 25% % ) K(oo
L)
a a( HTE_)___ _ a
‘(/ X/00 o
frea, A=0% | “(’*—L )
- !ov
) -mL/
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Q) In measuring the side of a square, an error of 5% in excess
1s made. The error % in the calculated area 1s

1 3
(a) 102% (b) IOZ%

3
© 1% @) 25%

Ans: (a)
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Q) An empty fuel tank of a car was filled with A type petrol.
When the tank was half-empty, it was filled with B type
petrol. Again when the tank was half-empty, it was filled
with A type petrol. When the tank was halt-empty again, it
was filled with B type petrol. What is the percentage of A
type petrol at present in the tank?

(@) 335% (b) 37.5% (c) 40% (d) 50%

- - - | B =50% L (4)

L_("’”%)J LA}: wf | L (4+8) )
B = 7” y - .o
(4+B) 4 __3_,. +507. f-/

8 = 50% = 45-%

"".,‘ —
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Q) An empty fuel tank of a car was filled with A type petrol.
When the tank was half-empty, it was filled with B type
petrol. Again when the tank was half-empty, it was filled
with A type petrol. When the tank was halt-empty again, it
was filled with B type petrol. What is the percentage of A
type petrol at present in the tank?

(@) 335% (b) 37.5% (c) 40% (d) 50%

Ans: (b)
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Q) On a certain date, Pakistan has a success rate of 60% against
India 1n all the ODIs played between the two countries.
They lost the next 30 ODIs 1n a row to India and their success
rate comes down to 30%. The total number of ODIs played
between the two countries 1s

(a) 50 (b) 45 (c) 60 (d) 30
— XX = X 29 s T
o9 100
Gl - 31_ - 7
"3"1 - ...?-X + 19 [0

5 lo
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EXAMS

Q) On a certain date, Pakistan has a success rate of 60% against
India 1n all the ODIs played between the two countries.
They lost the next 30 ODIs 1n a row to India and their success
rate comes down to 30%. The total number of ODIs played
between the two countries 1s

(a) 50 (b) 45 (c) 60 (d) 30

Ans: (c)
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